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 ВВЕДЕНИЕ



РАЗДЕЛ 

1
ТРЕНИРОВОЧНЫЕ ЗАДАНИЯ  

ПО КУРСУ МАТЕМАТИКИ  
(10—11-е классы)

 

 1  3sin2β + 10 + 3cos2β.

Ответ: 

2 16 – 6sin2β – 6cos2β.

Ответ: 

3  cos215° + cos275°.

Ответ: 
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4 cos215° – sin275°.

Ответ: 

5
sin

cos
sin , .

4

2
2 2 0 29

β
β

β− +

Ответ: 

6 sin cos
2 2

2 2
3

x x

−



 ⋅  x =

5

6

π
.

Ответ: 

7  cosβ = 0,8
3

2
2

π
β π< < . sinβ

Ответ: 

8 tgβ =
7

24
180° < β < 270° cosβ

Ответ: 
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9 ctgβ = −1
1

3
cos2β

Ответ: 

10 cosα = –0,6
π

α π
2
< < ; sinβ = –0,6,

3

2
2

π
β π< < . sin(α – β)

Ответ: 

11 cosα = –0,6
π

α π
2
< < ; sinβ = –0,6

3

2
2

π
β π< < . cos(α + β)

Ответ: 

12 cos
3

2

π
β+



 sinβ = 0,11

Ответ: 

13 sin(180° − β) sinβ = –0,24

Ответ: 
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14 sin(270° − β) cosβ = –0,41

Ответ: 

15 cos(β – 270°) sinβ = 0,59

Ответ: 

16 tg2 α π  ctgα = 2,5

Ответ: 

17 cos ,
2 3

2
α π−



 sinα = 0,2

Ответ: 

18

sin ctg( )

sin( )
,

13

2
6

1 2

π α π α

π α

−



 − +

+ −
ctgα = 8

Ответ: 
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19

sin ctg( )

sin( )
,

9

2
5

1

π α π α

π α

−



 − +

− −
tgα = 0,25

Ответ: 

20 sin(α – β) + 2cosαsinβ
sin(α + β) = 0,17

Ответ: 

21 cos(  + ) + 2sinαsinβ
cos( – ) = 0,64

Ответ: 

22
sin( ) cos sin

sin sin cos( )
,

α β α β
α β α β
+ −

+ +





⋅

2

2
3

 α – β = 150°

Ответ: 

23

cos( ) cos cos

cos sin sin( )
,

α β α β
α β α β
− −

+ −





⋅

2

2
2 3

α β = 120°

Ответ: 
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24 cos( ) sin( )tg .π α π α
π

α+ + + +



2 2

2

Ответ: 

25
sin cos

cos sin
tg ctg .

4 4

2 2

2 2α α
α α

α α
−
−

−

Ответ: 

26
sin cos

sin cos
cos sin .

3 3

1

α α
α α

α α
−

+
+ −

Ответ: 

27 19 + sin4  – cos4  + cos2

Ответ: 

28 4sin22 + 16sin4 – 16sin2

Ответ: 
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29
1 2

2 45 45

2

2

−
° − ° −

sin

tg( )cos ( )
.

α
α α

Ответ: 

30
sin cos

(sin cos )
,

β β
β β

+
− −1

sin2β = –0,6
π

β
π

2

3

4
< < .

Ответ: 

31
cos sin

(sin cos )
,

β β
β β

−
+ −1

sin2β = –0,8
3

4

π
β π< < .

Ответ: 

32 16ctg110°sin105°tg70°cos105°

Ответ: 

33 12ctg140°sin75°tg40°cos75°

Ответ: 



ТРЕНИРОВОЧНЫЕ ЗАДАНИЯ ПО КУРСУ МАТЕМАТИКИ (10—11-е классы)  РАЗДЕЛ I

34
1 2 43

176 4

2− °
° + °

sin

sin sin
.

Ответ: 

35
2 48 1

186 6

2
cos

sin sin
.

° −
° − °

Ответ: 

36
3

2
75 15

4 4
cos cos .°− °( )

Ответ: 

37
8cos2β 2cos2β + 9sinβ – 4 = 0

Ответ: 

38
cos2 3cos2 + 11sin  – 7 = 0

Ответ: 
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39 cos20° + cos40° + ... + cos160° + cos180°

Ответ: 

40 16cos20°cos40°cos80°

Ответ: 

41 sin54°sin18°

Ответ: 

42 27sinαcosα sin cos .α α− =
1

3

Ответ: 

43  81(sin3α + cos3α)

sin cos .α α+ =
1

3

Ответ: 
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 44 
2 2 3 2

4 2 5 2

sin cos

sin cos
,

α α
α α
−
+

tgα = 3

Ответ: 

45
7 4

4 3

cos sin

sin cos
,

α α
α α
+
+

4sin2α = 15sin2α + 1

Ответ: 

46 3 2
4 4 6 6

sin cos sin cos .α α α α+( )− +( )
Ответ: 

1 tg .390 3°⋅

Ответ: 
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2 sin .−

 ⋅

7

3
3π

Ответ: 

3 cos .
11

6
3

π
⋅

Ответ: 

4 ctg( ) .− ° ⋅300 2 3

Ответ: 

 5 (2; 3) -

y = tg(πx)?

Ответ: 

6  (1,4; 2,7)

y = ctg(πx)?

Ответ: 


